Good Guard Security, Inc. 21622 Plummer St Ste 200 Chatsworth, CA 91311 US +1 8006510491 info@goodguardsecurity.com

BILL TO
Dominique Pacolba
City of San Jose - PRNS Raging Waters
2333 S White Rd
San Jose, CA 95148 USA

DATE PLEASE PAY DUE DATE 11/01/2023 \$20,692.48 12/01/2023

DATE		DESCRIPTION	QTY	RATE	AMOUNT
10/06/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Jesus Contreras 1400-2200 Hugo Romero 2200-0600	16	32.95	527.20
10/07/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivare 0600-1400 Jesus Contreras 1400-2200 Hugo Romero 2200-0600	24	32.95	790.80
10/08/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Bryant Benavides 0600-1400 Jesus Contreras 1400-2200 Jesus Contreras 2200-0600	24	32.95	790.80
10/09/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivare 0600-1400 Bryant Benavides 1400-2200 Jesus Contreras 2200-0600	24	49.42	1,186.08
10/10/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivare 0600-1400 Bryant Benavides 1400-2200 Jesus Contreras 2200-0600	24	32.95	790.80
10/11/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Michael Ninsima 0600-1400 Bryant Benavides 1400-2200 Desiree Taison 2200-0600	24	32.95	790.80
10/12/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Kimberly Salas 0600-1400 Bryant Benavides 1400-2200 Michael Ninsima 2200-0600	24	32.95	790.80

DATE		DESCRIPTION	QTY	RATE	AMOUNT
10/13/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Kimberly Salas 0600-1400 Jesus Contreras 1400-2200 Michael Zanders 2200-0600	24	32.95	790.80
10/14/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Jessina Acosta 0600-1400 Jesus Contreras 1400-2200 Michael Zanders 2200-0600	24	32.95	790.80
10/15/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Bryant Benavides 0600-1400 Bryant/Abdul 1400-2200 Jason Taylor 2200-0600	24	32.95	790.80
10/16/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivare 0600-1400 Bryant Benavides 1400-2200 Jesus Contreras 2200-0600	24	32.95	790.80
10/17/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivare 0600-1400 Bryant Benavides 1400-2200 Jesus Contreras 2200-0600	24	32.95	790.80
10/18/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivare 0600-1400 Bryant Benavides 1400-2200 Jason Taylor 2200-0600	24	32.95	790.80
10/19/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivare 0600-1400 Bryant Benavides 1400-2200 Jason Taylor 2200-0600	24	32.95	790.80
10/20/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivare 0600-1400 Jesus Contreras 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80
10/21/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Fnu Mora 0600-1400 Jesus Contreras 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80
10/22/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Bryant Benavides 0600-1400 Jesus Contreras 1400-2200 Desiree taison 2200-0600	24	32.95	790.80

DATE		DESCRIPTION	QTY	RATE	AMOUNT
10/23/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivare 0600-1400 Bryant Benavides 1400-2200 Jesus Contreras 2200-0600	24	32.95	790.80
10/24/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivare 0600-1400 Bryant Benavides 1400-2200 Jesus Contreras 2200-0600	24	32.95	790.80
10/25/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivare 0600-1400 Bryant Benavides 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80
10/26/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivare 0600-1400 Bryant Benavides 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80
10/27/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivare 0600-1400 Jesus Contreras 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80
10/28/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Jessina Acosta 0600-1400 Jesus Contreras 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80
10/29/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Bryant Benavides 0600-1400 Jesus Contreras 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80
10/30/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivare 0600-1400 Bryant Benavides 1400-2200 Jesus Contreras 2200-0600	24	32.95	790.80
10/31/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivare 0600-1400 Bryant Benavides 1400-2200 Jesus Contreras 2200-0600	24	32.95	790.80

This account receivable has been assigned to and is owned by or subject to a security interest of Encore Funding II LLC and is payable only in United States Dollars.

TOTAL DUE \$20,692.48

All payments shall be made payable to EF fbo Good Guard Security, Inc. and sent to P.O. Box 849799, Los Angeles, CA 90084-9799

THANK YOU.

Good Guard Security, Inc. 21622 Plummer St Ste 200 Chatsworth, CA 91311 US +1 8006510491 info@goodguardsecurity.com

BILL TO
Dominique Pacolba
City of San Jose - PRNS Raging Waters
2333 S White Rd
San Jose, CA 95148 USA

DATE PLEASE PAY DUE DATE 12/01/2023 \$24,514.56 12/31/2023

DATE		DESCRIPTION	QTY	RATE	AMOUNT
11/01/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivare 0600-1400 Bryant Benavides 1400-2200 James Powell 2200-0600	24	32.95	790.80
11/02/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivare 0600-1400 Bryant Benavides 1400-2200 Mohammed 2200-0600	24	32.95	790.80
11/03/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivare 0600-1400 Kalvin Pham 1400-2200 Diane Kabeja 2200-0600	24	32.95	790.80
11/04/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Jessica Acosta 0600-1400 Kalvin Pham 1400-2200 James Powell 2200-0600	24	32.95	790.80
11/05/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Bryant Benavides 0600-1400 Kalvin Pham 1400-2200 James Powell 2200-0600	24	32.95	790.80
11/06/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Gurnam Singh 0600-1400 Bryant Benavides 1400-2200 Kalvin Pham 2200-0600	24	32.95	790.80
11/07/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivare 0600-1400 Bryant Benavides 1400-2200 Kalvin Pham 2200-0600	24	32.95	790.80

DATE		DESCRIPTION	QTY	RATE	AMOUNT
11/08/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivare 0600-1400 Bryant Benavides 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80
11/09/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Zanders/Tom 0600-1400 Bryant Benavides 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80
11/10/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivare 0600-1400 Kalvin Pham 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80
11/11/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Gurnam Singh 0600-1400 Kalvin Pham 1400-2200 Joseph Metoyer 2200-0600	24	49.42	1,186.08
11/12/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Bryant Benavides 0600-1400 Kalvin Pham 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80
11/13/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Gurnam Singh 0600-1400 Bryant Benavides 1400-2200 Kalvin Pham 2200-0600	24	32.95	790.80
11/14/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Gurnam Singh 0600-1400 Bryant Benavides 1400-2200 Kalvin Pham 2200-0600	24	32.95	790.80
11/15/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivare 0600-1400 Bryant Benavides 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80
11/16/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivare 0600-1400 Bryant Benavides 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80
11/17/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivare 0600-1400 Kalvin Pham 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80

DATE		DESCRIPTION	QTY	RATE	AMOUNT
11/18/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Jessica Acosta 0600-1400 Kalvin Pham 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80
11/19/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Bryant Benavides 0600-1400 Kalvin Pham 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80
11/20/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Kalvin Pham 2200-0600	24	32.95	790.80
11/21/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Kalvin Pham 2200-0600	24	32.95	790.80
11/22/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80
11/23/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Joseph Metoyer 2200-0600	24	49.42	1,186.08
11/24/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Kalvin Pham 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80
11/25/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Sunil Bhatia 0600-1400 Kalvin Pham 1400-2200 Elijah Arellano 2200-0600	24	32.95	790.80
11/26/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Bryant Benavides 0600-1400 Kalvin Pham 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80
11/27/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Sunil Bhatia 0600-1400 Bryant Benavides 1400-2200 Kalvin Pham 2200-0600	24	32.95	790.80

narmed Security uard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Kalvin Pham 2200-0600	24	32.95	790.80
narmed Security uard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80
narmed Security uard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80
1	narmed Security uard	Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Kalvin Pham 2200-0600 narmed Security Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Joseph Metoyer 2200-0600 narmed Security Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200	Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Kalvin Pham 2200-0600 narmed Security Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Joseph Metoyer 2200-0600 narmed Security Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200	Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Kalvin Pham 2200-0600 narmed Security Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Joseph Metoyer 2200-0600 narmed Security Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Bryant Benavides 1400-2200

TOTAL DUE

All payments shall be made payable to EF fbo Good Guard Security, Inc. and sent to P.O. Box 849799, Los Angeles, CA 90084-9799

payable only in United States Dollars.

THANK YOU.

\$24,514.56

Good Guard Security, Inc. 21622 Plummer St Ste 200 Chatsworth, CA 91311 US +1 8006510491 info@goodguardsecurity.com

BILL TO
Dominique Pacolba
City of San Jose - PRNS Raging Waters
2333 S White Rd
San Jose, CA 95148 USA

DATE PLEASE PAY DUE DATE 01/02/2024 \$24,910.32 02/01/2024

DATE		DESCRIPTION	QTY	RATE	AMOUNT
12/01/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Kalvin Pham 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80
12/02/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Jessina Acosta 0600-1400 Kalvin Pham 1400-2200 Elijah Arellano 2200-0600	24	32.95	790.80
12/03/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Bryant Benavides 0600-1400 Kalvin Pham 1400-2200 Elijah Arellano 2200-0600	24	32.95	790.80
12/04/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Harpal Singh 0600-1400 Bryant Benavides 1400-2200 Kalvin Pham 2200-0600	24	32.95	790.80
12/05/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Harpal Singh 0600-1400 Bryant Benavides 1400-2200 Jesus Zuniga 2200-0600	24	32.95	790.80
12/06/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Harpal Singh 0600-1400 Kuwarjot Sidhu 1400-2200 Jesus Zuniga 2200-0600	24	32.95	790.80
12/07/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Harpal Singh 0600-1400 Bryant Benavides 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80

DATE		DESCRIPTION	QTY	RATE	AMOUNT
12/08/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Kalvin Pham 1400-2200 Navpreet Singh 2200-0600	24	32.95	790.80
12/09/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Jessina Acosta 0600-1400 Navpreet Singh 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80
12/10/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Bryant Benavides 0600-1400 Kalvin Pham 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80
12/11/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Kalvin Pham 2200-0600	24	32.95	790.80
12/12/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Kalvin Pham 2200-0600	24	32.95	790.80
12/13/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Paras Ghota 0600-1400 Bryant Benavides 1400-2200 Bari Abdul 2200-0600	24	32.95	790.80
12/14/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80
12/15/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Kalvin Pham 1400-2200 Rufael Zekele 2200-0600	24	32.95	790.80
12/16/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Jessina Acosta 0600-1400 Kalvin Pham 1400-2200 Rufael Zekele 2200-0600	24	32.95	790.80
12/17/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Bryant Benavides 0600-1400 Kalvin Pham 1400-2200 Rufael Zekele 2200-0600	24	32.95	790.80

DATE		DESCRIPTION	QTY	RATE	AMOUNT
12/18/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Kalvin Pham 2200-0600	24	32.95	790.80
12/19/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Kalvin Pham 2200-0600	24	32.95	790.80
12/20/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Alisina Falah 2200-0600	24	32.95	790.80
12/21/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Bari Abdul 2200-0600	24	32.95	790.80
12/22/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Kalvin Pham 1400-2200 Bari Abdul 2200-0600	24	32.95	790.80
12/23/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Harpal Singh 0600-1400 Kalvin Pham 1400-2200 Bari Abdul 2200-0600	24	32.95	790.80
12/24/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Bryant Benavides 0600-1400 Kalvin Pham 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80
12/25/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Kalvin Pham 2200-0600	24	49.43	1,186.32
12/26/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Kuwarjot Sidhu 0600-1400 Bryant Benavides 1400-2200 Kalvin Pham 2200-0600	24	32.95	790.80
12/27/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80

DATE		DESCRIPTION	QTY	RATE	AMOUNT
12/28/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80
12/29/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Harpal Singh 0600-1400 Kalvin Pham 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80
12/30/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Harpal Singh 0600-1400 Kalvin Pham 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80
12/31/2023	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Bryant Benavides 0600-1400 Kalvin Pham 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80

or subject to a security interest of Encore Funding II LLC and is payable only in United States Dollars.

\$24,910.32 **TOTAL DUE**

THANK YOU.

All payments shall be made payable to EF fbo Good Guard Security, Inc. and sent to P.O. Box 849799, Los Angeles, CA 90084-9799

Good Guard Security, Inc. 21622 Plummer St Ste 200 Chatsworth, CA 91311 US +1 8006510491 info@goodguardsecurity.com

BILL TO
Dominique Pacolba
City of San Jose - PRNS Raging Waters
2333 S White Rd
San Jose, CA 95148 USA

DATE PLEASE PAY 02/01/2024 \$18,583.92

DUE DATE 03/02/2024

DATE		DESCRIPTION	QTY	RATE	AMOUNT
01/01/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Bhola Nath 0600-1400 Bryant Benavides 1400-2200 Kalvin Pham 2200-0600	24	49.43	1,186.32
01/02/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Kalvin Pham 2200-0600	24	32.95	790.80
01/03/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80
01/04/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80
01/05/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Rosa Tamayo 0600-1400 Preeka/Rufael 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80
01/06/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Jorden/Bhola 0600-1400 Kalvin Pham 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80
01/07/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Bryant Benavides 0600-1400 Kalvin Pham 1400-2200 Joseph Metoyer 2200-0600	24	32.95	790.80

DATE		DESCRIPTION	QTY	RATE	AMOUNT
01/08/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Rosa Tamayo 0600-1400	8	32.95	263.60
01/16/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Harpal Singh 1400-2200 Abdul Bari 2200-0600	16	32.95	527.20
01/17/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Martnie Viojan 2200-0600	24	32.95	790.80
01/18/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Martnie Viojan 2200-0600	24	32.95	790.80
01/19/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Martnie/Maurice 0600-1400 Kalvin Pham 1400-2200 Roman Juarez 2200-0600	24	32.95	790.80
01/20/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Maurice Curtis 0600-1400 Kalvin Pham 1400-2200 Roman Juarez 2200-0600	24	32.95	790.80
01/21/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Bryant Benavides 0600-1400 Maurice/Jatinder 1400-2200 Jatinder/Desiree 2200-0600	24	32.95	790.80
01/22/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Kalvin Pham 2200-0600	24	32.95	790.80
01/23/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Kuwarjot Sidhu0600-1400 Bryant Benavides 1400-2200 Kalvin Pham 2200-0600	24	32.95	790.80
01/24/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Roman Juarez 2200-0600	24	32.95	790.80
01/25/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Roman Juarez 2200-0600	24	32.95	790.80

DATE		DESCRIPTION	QTY	RATE	AMOUNT
01/26/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Kalvin Pham 1400-2200 Roman Juarez 2200-0600	24	32.95	790.80
01/27/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Arvin Jadidi 0600-1400 Kalvin Pham 1400-2200 Oscar Estrada 2200-0600	24	32.95	790.80
01/28/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Bryant Benavides 0600-1400 Kimberly Bruno 1400-2200 Maurice Curtis 2200-0600	24	32.95	790.80
01/29/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Kuwarjot Sidhu0600-1400 Bryant Benavides 1400-2200 Kalvin Pham 2200-0600	24	32.95	790.80
01/30/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Kalvin Pham 2200-0600	24	32.95	790.80
01/31/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Roman Juarez 2200-0600	24	32.95	790.80

This account receivable has been assigned to and is owned by or subject to a security interest of Encore Funding II LLC and is payable only in United States Dollars.

TOTAL DUE \$18,583.92

All payments shall be made payable to EF fbo Good Guard Security, Inc. and sent to P.O. Box 849799, Los Angeles, CA 90084-9799

THANK YOU.

Good Guard Security, Inc. 21622 Plummer St Ste 200 Chatsworth, CA 91311 US +1 8006510491 info@goodguardsecurity.com

BILL TO
Dominique Pacolba
City of San Jose - PRNS Raging Waters
2333 S White Rd
San Jose, CA 95148 USA

DATE PLEASE PAY DUE DATE 03/05/2024 \$23,724.24 04/04/2024

DATE		DESCRIPTION	QTY	RATE	AMOUNT
02/01/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Bari Abdul 2200-0600	24	32.95	790.80
02/02/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Kalvin Pham 1400-2200 Jennifer Freeman 2200-0600	24	32.95	790.80
02/03/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Martnie Viojan 0600-1400 Kalvin Pham 1400-2200 Jennifer Freeman 2200-0600	24	32.95	790.80
02/04/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Bryant Benavides 0600-1400 Kalvin Pham 1400-2200 Martnie Viojan 2200-0600	24	32.95	790.80
02/05/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Kalvin Pham 2200-0600	24	32.95	790.80
02/06/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Kalvin Pham 2200-0600	24	32.95	790.80
02/07/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Bryant/Martnie 2200-0600	24	32.95	790.80

DATE		DESCRIPTION	QTY	RATE	AMOUNT
02/08/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Navpreet Singh 2200-0600	24	32.95	790.80
02/09/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Quaym/Getu 1400-2200 Abdul Aruayub 2200-0600	24	49.43	1,186.32
02/10/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Amanda Andrade 0600-1400 Kalvin/Abdul 1400-2200 Donnell Robinson 2200-0600	24	32.95	790.80
02/11/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Bryant Benavides 0600-1400 Bryant/Preeti 1400-2200 Billy Williams 2200-0600	24	32.95	790.80
02/12/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Bryant/Zanders 2200-0600	24	32.95	790.80
02/13/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Balraj Singh 2200-0600	24	32.95	790.80
02/14/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Abdul Aruarubb 2200-0600	24	32.95	790.80
02/15/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Abdul Aruarubb 2200-0600	24	32.95	790.80
02/16/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Balraj Singh 1400-2200 Abdul Aruarubb 2200-0600	24	32.95	790.80
02/17/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Abdul Bari 0600-1400 Preeti Sinhmar 1400-2200 Abdul Aruarubb 2200-0600	24	32.95	790.80

DATE		DESCRIPTION	QTY	RATE	AMOUNT
02/18/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Bryant Benavides 0600-1400 Preeti Sinhmar 1400-2200 Abdul Aruarubb 2200-0600	24	32.95	790.80
02/19/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Israel Cortez 0600-1400 Bryant Benavides 1400-2200 Jacari Carr 2200-0600	24	49.43	1,186.32
02/20/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Brian Rivera 2200-0600	24	32.95	790.80
02/21/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Israel Cortez 0600-1400 Bryant Benavides 1400-2200 Brian Rivera 2200-0600	24	32.95	790.80
02/22/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Abdul Bari 0600-1400 Bryant Benavides 1400-2200 Brian Rivera 2200-0600	24	32.95	790.80
02/23/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Abdul Bari 0600-1400 Jacari Carr1400-2200 Brian Rivera 2200-0600	24	32.95	790.80
02/24/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Abdul Bari 0600-1400 Jacari Carr1400-2200 Brian Rivera 2200-0600	24	32.95	790.80
02/25/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Bryant Benavides 0600-1400 Jacari Carr1400-2200 Brian Rivera 2200-0600	24	32.95	790.80
02/26/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Anthony Olivarez 0600-1400 Bryant Benavides 1400-2200 Jacari Carr 2200-0600	24	32.95	790.80
02/27/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Israel Cortez 0600-1400 Bryant Benavides 1400-2200 Jacari Carr 2200-0600	24	32.95	790.80

DATE		DESCRIPTION	QTY	RATE	AMOUNT
02/28/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Abdul Bari 0600-1400 Bryant Benavides 1400-2200 Brian Rivera 2200-0600	24	32.95	790.80
02/29/2024	Unarmed Security Guard	Unarmed Security Officer, State Licensed, Insured, & Bonded. Abdul Bari 0600-1400 Bryant Benavides 1400-2200 Brian Rivera 2200-0600	24	32.95	790.80

payable only in United States Dollars.

All payments shall be made payable to EF fbo Good Guard Security, Inc. and sent to P.O. Box 849799, Los Angeles, CA 90084-9799

\$23,724.24 **TOTAL DUE**

THANK YOU.